


S
\ ‘eS_\ ) - 4 y 4

Measurements of Length @
Cep o amem A e S R e e

NON\NNTENNN /— |
The units shaded purple are
metric units of measurement.
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The units shaded orange are
imperial units of measurement.




Introducing Imperial Measurements

There are two main systems of measurement in use
and the imperial system.

The UK uses a mixture

of imperial and metric
measurements. For example,
we normally use miles e :
to measure long f 100 "n'{&?‘%

AN

distances. _, the rest of h cars have a speedometer
Eurupe, the speed is only shows speed on the outside
shown in kilometres. le dial in miles and on the

140 * inside in kilometres.
®
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Introducing Imperial Measurements
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The most common meerlal units of / N
capacity are pints and gallons. We

measure milk in pints and some builders
use buckets which measure in gallons.
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Introducing Imperial Measurements

B Have you heard of any of these imperial units of length before?
-
1 yard

e cricket pitch T
or ‘ \
rugby pitch L=
road signs for ‘
shorter distances e

] _ .
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Miles and Kilometres "

J:), Sometimes we need to cortventilbstw8&mimperial and metric units.

~

10 miles = 16km
How did you calculate
this approximate
equivalence?
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Inches and Centimetres

™»

Many rulers show measurements in both centimetres and inches.

Are you sure

that's the right -j

unit to use? 2
My teacher has
asked me to measure the S
length of the hall. I'm s

going to measure it
in inches!
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Inches and Centimetres

J:)( Look at your ruler.
; How manu centimetres are approximately equal to one inch?

e When you measure the same

d 1 object using two different
units of measurement,
you should see that the , | | _
measurement recorded - - | » 2

- in cm is two and a half )

B T PO TN

times larger thar} the 2% centimetres (or 2.5cm) are - ;f
measurement written approximately equal to one inch. 4 s
in inches. % | an yo £
\ | *‘ h {q “Prove that an jnc),
o ‘ 0 and a half tipmes Ay

arger than q centimetre ?

rubber
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Converting between Inches
and Centimetres

1 inch = 2.5cm

— . A

1 inch 2 inches 5 inches 10 inches 20 inches 25 inches
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Converting between Inches

Ji and Centimetres

p= Convert from centimetres to inches to complete this table.
[atfs

hitod

q 1 Click each box in the table to

!. reveal the answer underneath.
— ~ >

cm 2cm L4cm 5cm

0.4 inches

10cm 12cm 20cm 31cm
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Whole Class

Solving Seedling Problems,{:

Class 5B grew seedlings as part of their science topic.
1c (]
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e ~ Halfway through the term, = === .

i Mr Leonard asked half the First, convert the
.. class to measure the height |ﬁ.* measuremerds. to the
N of their seedli 2 unit.

Now you can put the original ~ T

and ho' .
measurements Ln order.
- He Challengea 'LAIDID LU Ul ALl CILO TILOUULOULL CllILulILLY

of some of the seedlings from shortest to tallest.
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\ 4 inches
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Solving Seedling Problems

At the end of the term, the seedlings had grown taller. Mr Leonarc
challenged the class to order the measurements of four more seedlings.

1 inch = 2.5cm
1cm = 0.4 inches

Which measurements
will you convert?

2 inches
5cm

6 inches
15cm

Tallest

Shortest

7 inches




Solving Seedling Problems.{2

As part of their science topic, Class 5B measured
how much their seedlmgs grew, throughout the term
R — —— = Sophia’s seedling grew from
3cm to 12cm tall.

1 inch = 2.5cm =
1cm = 0.4 inches b e Haydar's seedling grew from \
4 2 inches to 6 inches tall. '

Haydar thinks that his
seedling grew more than

Sophia's.
Convert the

measurements so they Is he right?
are all in the same units. -
4 inches = 10cm ‘

Haydar is right.
His seedling grew the most.
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Centimetres, Feet and Inches

JJ Mr Leonard’s seedling grew to be 1 foot tall.
3 i How tall is this in cm?
// =< = \ i Z
1 1 foot = 12 inches
1inch = 2.5cm . __ '
lcm = 0.4 inches bic it

\7 W= inches (o ™ )iy e
A/ - 1 > wi/ .
ﬂ‘m / “’ // - ' P g - 3ocm 1' — : '/////

ok // /////-///,i/////;




Centimetres, Feet and Inches e

Mr Leonard’s husband grew a plant that was 2 feet and 5 inches talll
How tall wa the plant in cm?.

1 foot = 12 inches
1 inch = 2.5cm
1lcm = 0.4 inches

Did you use a
different method to
find the answer?

29 inches is one less than 30 inches. We wiill
find 30 inches in cm and then subtract 2.5cm.
10 inches = 25cm
25cm x 3 = 75cm
TR '

‘5cm - 2.5cm
72.5cm

~
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Centimetres, Feet and Inches

Haydar's younger sister grew a plant that was 45cm tall. How
tall was it in feet and inches?

Vi N
1 foot = 12 inches

1 inch = 2.5cm

_ Did you use a
lcm = 0.4 inches

different method to

il |\ find the answer?

How many whole feet and how many inches left over?
1 foot and 6 inches
45cm = 1 foot 6 inches
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Centimetres, Feet and Inches e

By December, Haydar's sister’s plant had grown to 65cm. What was the
plant’s height in feet and inches?
1 foot = 12 inches
1 inch = 2.5cm
lcm = 0.4 inches

‘-

Convert
centimetres to inches:
65cm = 60cm + 5cm

12(C)m =~42lZC.heSI{ 20 * How many whole feet and
CHES ST HICHES '  how many inches left over?
S 2 feet and 2 inches
3 e 65cm = 2 feet 2 inches
24 inches + 2 inches R ] f |
= 26 inches DA Y S VI

—~
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Your turn- Write the answers on a piece of
paper.

oLl
“ 1 1 inch = 2.5cm
\‘\\ 1) For each measurement, choose the method you will use to convert it from inches e
= to centimetres. 2
=< add
previous repeated
double answers addition o
together & an
1 inch 2 inches 4 inches 5 inches 10 inches N

2.5cm cm cm cm cm S
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1 cm = 0.4 inches
2) For each measurement, choose the method you will use to convert it from centimetres
/t)/ to inches.
= add
) .
= double previous repeated
answers addition
<‘ 1 together
s ‘.
S i
Tem 2cm 5cm 10cm 15cm e
e 0.4 inches inches inches inches inches
2




: t’/ Units of Length
= Class 5B grew seedlings as part of their science topic. Some of the children measured the
height of their seedlings in inches and some children measured theirs in centimetres.

. . 3)  Order the heights of these seedlings from shortest to tallest.

Ny Remember to change the measurements to the same unit to help you find the answer. =

\\_\ - ;-
4 inches 8cm 7cm 5
Shortest - - Tallest

4)  Haroon's seedling measured 4cm when he first measured it. It grew 2 inches.
What was its final measurement? Give your answer in centimetres. ¥
Show how you worked out your answer.




